February 10, 2020

1. On level ground, a vertical rod 12 feet tall casts a
shadow 4 feet long, and at the same time a nearby
vertical flagpole casts a shadow 12 feet long. How

many feet tall is the flagpole?
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3. If x==5, what is the value of x| ? 2
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6. What is the_perimeter, in centimeters, of a rectangle

with length ﬁﬁmwidth 6 cm ?
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8. For what value of r is the equation
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9. If 12(x — 11) = =15, then x = ?
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10. In the figure below, A, D, C, and E are collinear. AD,
BD, and BC are all the same length, and the angle
measure of ZABD is as marked. What is the degree
measure of ZBCE ? :
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22. If x+y=32,andx-y=12, theny="?
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standard (x,y) coordinate plane, & 3) an
What is the x-coordinate of th of GH ?

o3 "
3 BJCZ Rk \b\-%

K. 5 ~
2. o~

()(, ,%() CXZ,({J

Mdpt, (Tt i

38. The coordinates of the endpomts GH, z: the




